4/2 (&) AFtLEZ—- tHHABFrYABERY

28 27 = i
ISRAEMRITE R 4828 (&) | 9:30 |12 [2313%=
ISRAEMRITE BRI 4828 (&) | 9:30 1282|2423
ISRAEMRIEE | RRTRERER 4828 (&) | 9:30 12838 [3313%=
ISRAEMRISE | SRERER 4828 (&) | 9:30 1282 [233%=
ERED JAASATZER) 4828 (&) |10:30 |128E38  [3423%=
RIS DFERILER 4828 (&) |10:30 12838 [333%=
RIS DFMEMER 4828 (&) |10:30 |128E38  [3443%=
HIEIERISES | TANRARIER 4828 (&) |11:30|1284Bs  [4313%=
BRI RISE | TR 4828 (&) |11:30 |12884R  [433%=
HUEIERISES  [EERIER 4828 (&) |11:30 |1284Rs  |4423=
HUSESIERISE | HhIsbAIR AR 4828 (&) |11:30 |1284R  |443%=
ERERIEREE | EREEmERTR 4828 (&) |12:30 (128858 [533%=
ERSRIEREE [SREEEEER 4828 (&) |12:30 128858  [5313%=
ERSRIEREE (EBACSRRER | 4828 (&) |12:30 |19 |542%=
ERERIEREE (ERaERE 4828 (&) |12:30 12868 |6323%=
A SRR TR 4828 (&) |13:00 12818 |1413%=
A RIS 4828 (&) |13:00 12818 |142%%=
A MO RIS R S TR 4828 (&) |13:00[128E18  |1313%=
A EERSRNELNSAER 4828 (@) [13:00 1281k |132%=
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28] 27 = N i
e FEY 4828 () |10:00 [#E=H2m  [1202%=
e YRR 4828 (&) |11:00 |#SmIE [1102%=
e YRR 4828 () |12:00 |#E®m1E  [1103%=
e FHAEER 4828 (®) |13:00 [HEEEM2E [N=F k-1
A SRR 4828 () |14:00 |#EmH2m  [12043=
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28] 27 = i
eyERE  |[rEEER 4848 (A) | 9:30 8-3013%
RS KSR 4848 (8) | 9:30 8-302%=
EMERSE | REHHLER 4848 (A) | 9:30 8-40125%=
R BABERE SR 4848 (8) | 9:30 8-402%z=
A YRR TTR 4848 () |13:30 AER=




